

Payroll Journal Report

Payroll Period: 01/07/2024 - 01/20/2024 Report Created On: 01/23/2024

Employee Earnings

Payroll period: 01/07/2024 - 01/20/2024 Pay day: 01/25/2024

Employee Information	Employment		Earnings				Deductions/Co	ntributions		Employee Taxe	s	Employer Taxes		Totals	
	Employee Type	Payment	Description	Hours	Rate	Total	Description	Employee Deduction	Employer Contribution	Description	Amount	Description	Amount	Descriptio n	Amount
Bageby, Gwendolyn	Paid by the hour	Direct Deposit	Regular	80.00	\$18.76	\$1,500.80				Federal Income Tax	\$163.48	Social Security	\$93.05	Net Pay	\$1,158.73
Public Works			Gross			\$1,500.80				Social Security	\$93.05	Medicare	\$21.76	Check Amount	\$1,158.73
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$21.76	MI State Unemployment Tax	\$70.54	Employer Cost	\$1,686.15
										MI State Tax	\$63.78	Total	\$185.35		
										Total	\$342.07				
Bradford, Justin	Paid by the hour	Direct Deposit	Regular	84.00	\$30.08	\$2,526.72	457 Retirement	\$50.00	\$378.47	Federal Income Tax	\$231.07	Social Security	\$156.65	Net Pay	\$1,605.31
Police Department			Rent			\$0.00	Rent	\$323.08		Social Security	\$156.65	Medicare	\$36.63	Check Amount	\$1,605.31
7374 Market St., Mackinac Island, MI 49757			POLC dues	_		\$0.00	POLC dues	\$27.87		Medicare	\$36.63	MI State Unemployment Tax	\$118.76	Employer Cost	\$3,217.23
			Gross			\$2,526.72				MI State Tax	\$96.11	Total	\$312.04		
										Total	\$520.46				
Davis, Joseph	Paid by the hour	Direct Deposit	Regular	84.00	\$25.87	\$2,173.08	457 Roth Retirement	\$300.00	\$641.75	Federal Income Tax	\$264.54	Social Security	\$162.99	Net Pay	\$1,481.29
Police Department			Night Shift premium			\$42.00	Rent	\$242.31		Social Security	\$162.99	Medicare	\$38.11	Check Amount	\$1,481.29
7374 Market St., Mackinac Island, MI 49757			Bonus			\$413.76	POLC dues	\$27.87		Medicare	\$38.11	MI State Unemployment Tax	\$123.56	Employer Cost	\$3,595.25
			Rent			\$0.00				MI State Tax	\$111.73	Total	\$324.66		
			POLC dues			\$0.00				Total	\$577.37				
			Gross			\$2,628.84									
Dombroski, Dennis	Paid by the hour	Check	Regular	68.00	\$59.15	\$4,022.20	457 Retirement	\$250.00	\$150.00	Federal Income Tax	\$405.56	Social Security	\$247.30	Net Pay	\$2,869.01
Engineering			Gross			\$4,022.20	Aflac Pre Tax	\$33.60		Social Security	\$247.30	Medicare	\$57.84	Check Amount	\$2,869.01

Employee Information	Employment		Earnings				Deductions/Cor	ntributions		Employee Taxe	s	Employer Taxes	s	Totals	
	Employee Type	Payment	Description	Hours	Rate	Total	Description	Employee Deduction	Employer Contribution	Description	Amount	Description	Amount	Descriptio n	Amount
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$57.84	MI State Unemployment Tax	\$189.04	Employer Cost	\$4,666.38
										MI State Tax	\$158.89	Total	\$494.18		
										Total	\$869.59				
Doud, Margaret	Salary/Eligible for overtime	Check	Gross			\$0.00				Total	\$0.00	Total	\$0.00		
Mayor															
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757															
Dziobak, Andrew	Paid by the hour	Direct Deposit	Regular	84.00	\$31.61	\$2,655.24	457 Retirement	\$200.00	\$594.48	Federal Income Tax	\$337.74	Social Security	\$185.76	Net Pay	\$2,051.42
Police Department			Bonus			\$379.20	POLC dues	\$27.87		Social Security	\$185.76	Medicare	\$43.44	Check Amount	\$2,051.42
7374 Market St., Mackinac Island, MI 49757			POLC dues			\$0.00	Aflac Pre Tax	\$38.22		Medicare	\$43.44	MI State Unemployment Tax	\$142.62	Employer Cost	\$4,000.74
			Aflac After Tax			\$0.00	Aflac After Tax	\$40.31		MI State Tax	\$109.68	Total	\$371.82		
			Gross			\$3,034.44				Total	\$676.62	!			
France, Trista	Salary/No overtime	Direct Deposit	Regular	80.00	\$27.25	\$2,180.33	457 Retirement	\$10.00		Federal Income Tax	\$205.51	Social Security	\$133.30	Net Pay	\$1,654.18
Mayor's assistant			Gross			\$2,180.33	Aflac Pre Tax	\$30.22		Social Security	\$133.30	Medicare	\$31.17	Check Amount	\$1,654.18
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$31.17	MI State Unemployment Tax	\$102.48	Employer Cost	\$2,447.28
										MI State Tax	\$115.95	Total	\$266.95		
										Total	\$485.93				
Gruits, Michael	Paid by the hour	Direct Deposit	Regular	84.00	\$25.87	\$2,173.08	457 Retirement	\$62.50	\$345.00	Federal Income Tax	\$176.96	Social Security	\$134.73	Net Pay	\$1,649.81
Police Department			POLC dues			\$0.00	POLC dues	\$27.87		Social Security	\$134.73	Medicare	\$31.51	Check Amount	\$1,649.81
7374 Market St., Mackinac Island, MI 49757			Gross			\$2,173.08				Medicare	\$31.51	MI State Unemployment Tax	\$102.13	Employer Cost	\$2,786.45
										MI State Tax Total	\$89.70 \$432.90		\$268.37		
Hannink, Alicia	Paid by the	Direct Deposit	Regular	32.00	\$16.00	\$512.00				Social Security		Social Security	\$31.75	Net Pay	\$451.06
Recreation department	hour	·	Gross			\$512.00				Medicare		Medicare	\$7.43	Check Amount	\$451.06

Employee Information	Employment		Earnings				Deductions/Cor	ntributions		Employee Taxe	s	Employer Taxes	s	Totals	
	Employee Type	Payment	Description	Hours	Rate	Total	Description	Employee Deduction	Employer Contribution	Description	Amount	Description	Amount	Descriptio n	Amount
6392 Main Street, Mackinac Island, MI 49757										MI State Tax	\$21.76	MI State Unemployment Tax	\$24.06	Employer Cost	\$575.24
										Total	\$60.94	Total	\$63.24		
Kaminen, Cory	Paid by the hour	Direct Deposit	Regular	84.00	\$30.08	\$2,526.72	457 Retirement	\$45.00	\$449.32	Federal Income Tax	\$232.77	Social Security	\$191.65	Net Pay	\$2,437.86
Police Department			Night Shift premium			\$42.00	POLC dues	\$27.87		Social Security	\$191.65	Medicare	\$44.83	Check Amount	\$2,437.86
7374 Market St., Mackinac Island, MI 49757			Bonus			\$541.44	Aflac Pre Tax	\$19.02		Medicare	\$44.83	MI State Unemployment Tax	\$146.18	Employer Cost	\$3,942.14
			POLC dues			\$0.00				MI State Tax	\$111.16	Total	\$382.66		
			Gross			\$3,110.16				Total	\$580.41				
Leach, Danielle	Salary/No overtime	Direct Deposit	Regular	80.00	\$22.78	\$1,822.38	457 Retirement	\$16.00		Federal Income Tax	\$159.69	Social Security	\$112.59	Net Pay	\$1,079.85
City Clerk's Office			Rent			\$0.00	Rent	\$335.00		Social Security	\$112.59	Medicare	\$26.33	Check Amount	\$1,079.85
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757			Gross	-		\$1,822.38	Aflac Pre Tax	\$6.42		Medicare	\$26.33	Total	\$138.92	Employer Cost	\$1,961.30
										MI State Tax	\$86.50				
										Total	\$385.11				
Linn, Richard	Salary/No overtime	Direct Deposit	Regular	80.00	\$22.78	\$1,822.38	457 Roth Retirement	\$1,173.08		Federal Income Tax	\$162.22	Social Security	\$112.99	Net Pay	\$279.36
City Treasurer			Gross			\$1,822.38				Social Security	\$112.99	Medicare	\$26.43	Check Amount	\$279.36
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$26.43	Total	\$139.42	Employer Cost	\$1,961.80
										MI State Tax	\$68.30				
										Total	\$369.94				
Miedzianowski, Dwayne	Paid by the hour	Direct Deposit	Regular	84.00	\$25.87	\$2,173.08	Rent	\$150.00		Federal Income Tax	\$334.94	Social Security	\$182.83	Net Pay	\$2,085.15
Police Department			Bonus			\$775.80	POLC dues	\$27.87		Social Security	\$182.83	Medicare	\$42.76	Check Amount	\$2,085.15
7374 Market St., Mackinac Island, MI 49757			Rent			\$0.00				Medicare	\$42.76	MI State Unemployment Tax	\$138.60	Employer Cost	\$3,313.07
			POLC dues			\$0.00				MI State Tax	\$125.33	Total	\$364.19		
			Gross			\$2,948.88				Total	\$685.86				
Patay, Mary	Salary/No overtime	Direct Deposit	Regular	80.00	\$22.25	\$1,779.82	457 Retirement	\$70.00		Federal Income Tax	\$161.60	Social Security	\$106.75	Net Pay	\$1,277.71

Employee Information	Employment		Earnings				Deductions/Co	ntributions		Employee Taxe	s	Employer Taxes	s	Totals	
_	Employee Type	Payment	Description	Hours	Rate	Total	Description	Employee Deduction	Employer Contribution	Description	Amount	Description	Amount	Descriptio n	Amount
Recreation department			Aflac After Tax			\$0.00	Aflac Pre Tax	\$58.04		Social Security	\$106.75	Medicare	\$24.96	Check Amount	\$1,277.71
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757			Gross			\$1,779.82	Aflac After Tax	\$10.56		Medicare	\$24.96	MI State Unemployment Tax	\$83.65	Employer Cost	\$1,995.18
										MI State Tax Total	\$70.20 \$363.51	Total	\$215.36		
Pereny, Kathryn	Paid by the hour	Direct Deposit	Regular	41.50	\$23.00	\$954.50				Federal Income Tax		Social Security	\$59.18	Net Pay	\$808.15
Engineering			Gross			\$954.50				Social Security	\$59.18	Medicare	\$13.84	Check Amount	\$808.15
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$13.84	MI State Unemployment Tax	\$44.86	Employer Cost	\$1,072.38
										MI State Tax	\$40.57	Total	\$117.88		
										Total	\$146.35				
Rollins, Christine	Paid by the hour	Direct Deposit	Regular	18.00	\$18.58	\$334.44				Social Security	\$20.73	Social Security	\$20.73	Net Pay	\$294.65
City Clerk's Office			Gross			\$334.44				Medicare	\$4.85	Medicare	\$4.85	Check Amount	\$294.65
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										MI State Tax	\$14.21	MI State Unemployment Tax	\$15.72	Employer Cost	\$375.74
										Total	\$39.79	Total	\$41.30		
Ross, Christian	Paid by the hour	Direct Deposit	Regular	80.00	\$20.75	\$1,660.00				Federal Income Tax	\$122.89	Social Security	\$102.92	Net Pay	\$1,339.57
Public Works			Gross			\$1,660.00				Social Security	\$102.92	Medicare	\$24.07	Check Amount	\$1,339.57
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$24.07	MI State Unemployment Tax	\$78.02	Employer Cost	\$1,865.01
										MI State Tax	\$70.55	Total	\$205.01		
										Total	\$320.43				
Ruddle, Michael	Paid by the hour	Direct Deposit	Regular	80.00	\$28.98	\$2,318.40				Federal Income Tax	\$404.77	Social Security	\$192.25	Net Pay	\$2,336.25
Public Works			Overtime	18.00	\$43.47	\$782.46				Social Security	\$192.25	Medicare	\$44.96	Check Amount	\$2,336.25
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757			Gross			\$3,100.86				Medicare	\$44.96	MI State Unemployment Tax	\$145.74	Employer Cost	\$3,483.81

Employee Information	Employment		Earnings				Deductions/Co	ntributions		Employee Taxe	s	Employer Taxe	s	Totals	
	Employee Type	Payment	Description	Hours	Rate	Total	Description	Employee Deduction	Employer Contribution	Description	Amount	Description	Amount	Descriptio n	Amount
										MI State Tax	\$122.63	Total	\$382.95		
										Total	\$764.61				
St. Onge, Anne	Paid by the hour	Direct Deposit	Regular	76.00	\$22.26	\$1,691.76	457 Retirement	\$25.00		Federal Income Tax	\$157.19	Social Security	\$101.68	Net Pay	\$1,263.75
Library			Gross			\$1,691.76	Aflac Pre Tax	\$51.72		Social Security	\$101.68	Medicare	\$23.78	Check Amount	\$1,263.75
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$23.78	MI State Unemployment Tax	\$79.51	Employer Cost	\$1,896.73
										MI State Tax	\$68.64	Total	\$204.97		
										Total	\$351.29				
Stafford, Audrey	Paid by the hour	Direct Deposit	Regular	46.00	\$15.24	\$701.20				Federal Income Tax	\$13.97	Social Security	\$43.47	Net Pay	\$603.79
Library			Gross			\$701.20				Social Security	\$43.47	Medicare	\$10.17	Check Amount	\$603.79
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$10.17	MI State Unemployment Tax	\$32.96	Employer Cost	\$787.80
										MI State Tax	\$29.80	Total	\$86.60		
										Total	\$97.41				
Stakoe, Joseph	Salary/Eligible for overtime	Direct Deposit	Regular	80.00	\$12.65	\$1,011.62				Federal Income Tax	\$45.09	Social Security	\$62.72	Net Pay	\$846.15
City Assessor			Gross			\$1,011.62				Social Security	\$62.72	Medicare	\$14.67	Check Amount	\$846.15
7358 Market St., P.O. Box 455, Mackinac Island, MI 49757										Medicare	\$14.67	MI State Unemployment Tax	\$47.55	Employer Cost	\$1,136.56
										MI State Tax	\$42.99	Total	\$124.94		
										Total	\$165.47				
Topolski, Douglas	Salary/No overtime	Direct Deposit	Regular	80.00	\$43.40	\$3,471.95	457 Roth Retirement	\$1,173.08	\$531.35	Federal Income Tax	\$750.79	Social Security	\$229.56	Net Pay	\$1,107.46
Police Department			Rent			\$230.75	Rent	\$230.75		Social Security	\$229.56	Medicare	\$53.69	Check Amount	\$1,107.46
7374 Market St., Mackinac Island, MI 49757			Rent	-		\$0.00				Medicare	\$53.69	MI State Unemployment Tax	\$174.03	Employer Cost	\$4,691.33
			Gross			\$3,702.70				MI State Tax	\$157.37	Total	\$457.28		
										Total	\$1,191.41				
Payroll Totals			Regular	1505.50	\$26.58	\$40,011.70	457 Retirement	\$728.50	\$1,917.27	Federal Income Tax	\$4,363.54	Social Security	\$2,664.85	Net Pay	\$28,680.51

Employee Information	Employment		Earnings				Deductions/Co	Deductions/Contributions			S	Employer Taxes		Totals	
	Employee Type	Payment	Description	Hours	Rate	Total	Description	Employee Deduction	Employer Contribution	Description	Amount	Description	Amount	Descriptio n	Amount
			Overtime	18.0	\$43.47	\$782.46	Rent	\$1,281.14		Social Security	\$2,664.85	Medicare	\$623.23	Check Amount	\$28,680.51
			Night Shift premium		-	\$84.00	POLC dues	\$167.22		Medicare	\$623.23	MI State Unemployment Tax	\$1,860,01	Employer Cost	\$51,457.57
			Bonus		-	\$2,110.20	457 Roth Retirement	\$2,646.16	\$1,173.10	MI State Tax	\$1,775.85	Total	\$5,148.09		
			Rent			\$230.75	Aflac Pre Tax	\$237.24		Total	\$9,427.47				
			Rent			\$0.00	Aflac After Tax	\$50.87							
			POLC dues			\$0.00									
			Aflac After Tax			\$0.00									
			Gross			\$43,219.11									